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Saturn has 3 Trojan moons. Jupiter has numerous Trojan asteroids. Mars has 3 Trojan
asteroids. Neptune has 8 Trojan asteroids. Earth has one Trojan asteroid at L4.
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Find L3 location

1.06+0.025

......

.....

0.5 1 115 2

a

—— f1(x) —2(x) ——FAX)F2(X) eeeee a(x)

Bh - (&)

Find L1, L2, L3 locations
10

1.06+0.025

.........
.........

x*/a

—e—1stterm —&—2ndterm ——1st+2nd-terms  +++++ a(x)
B7S ~ MEERRER » FIFA7)NE - BEEHEZE47)XNE—1E (EEms) =
S£TIE (EH4R) FREtERENIN - EERBEABERRE () = SNREHME
BRI

14



